2100

S=1

2 [+ m

HIE &

1,125

1,125

1,125

1,125

1,125

1,125

o

B =
=9

g |K
=

-~ Ly
N
~ ™
] a
Y I
o |8
006°1

068°'¢ H 0061 H 0056
o
o
(o)
.
2
o
o
>
*—
9] [fe)
o~ o~
NI | N—T
S |
— o
o i w
= X 00
— a0 oo
[e]
*—
(o]
[
O
*—
= o7,
b= I a
=) o [T
- —l
— 2
o— o —
9] [fe)
N _ N
N| < T
o] —
*——
0 —
o
=
[ot
o
o
[ee)
o
068°¢C - 0056

006°1

6,175

71,125

| 950 | 950

6,175

7,125

6,175

71,125

| 950 | 950/

6,175

7,125

6,175

71,125

| 950 | 950/

6,175

7,125

42,750

&

2100

S=1

2 [+ m

1]

1]

&N

71,125

7,125

1,125

7,125

71,125

7,125

R
MET/TTERSA L. B

&

Gy
i

o
=

& (&

-

FEEL (RFAEMT) BE

Sa R

JECO

068°¢

—®

006°6

006!

o
o
(=]
™~
[
[Or
o
o
[=2]
—
*—
ol w
N| N
N| <
| —
*— r—
o B
> el
- 8
or—— ™
[
*—
r—
*—
[
o
S o
o ol
- &
*— r—
ol w
N| N
N| <
| —
[
o
o
[=2]
—
[OF
[
o
o
<o
™~

068°¢

006°6

05¢°v1

006°1

6,175

7,125

| 950 | 950/

6,175

7,125

6,175

7,125

| 950 | 950/

6,175

7,125

6,175

7,125

| 950 | 950

6,175

7,125

42,750

&

E-03

2021401A

m
nnsm
&
Bl |
ﬂﬂul
o
% 2
= >
n_\_v
&
R (5
-
= ey
Ko
o
H
S
=
&
~
¥
E=
H
w
& =

-

() T L -F—: 7 A -grsts55

=
=

7
o)
o £
o Jmf
N
I
- Iy
& «
L]
i L
=1 HE
K 5=
m =
ﬁmO/u
-
|
©
m
[
81
.__=_=__..0
_,ﬁ4_|
£ o
z N
LI
£ g
m o
_mo
& 2
—

—REEL XEHHKHE223559F

i
S
=
1




